Symbolische Darstellung

Symbolic Illustration

Ersatzteilliste

Replacement Parts

DB-AG ICE  |=| |mm
@ 3
=2 Beschreibung < g 2z g
eeL Description << | & &
1 Motor 85061 28
Motor
2 Stromabnehmer 85379 19
Pantograph
3 Schraube 1,6 x 7 85730 3
Screw 1.6 x 7
4 Kardanschale 87129 4
Cardan bearing
5 Kardanwelle kurz 87171 3
Cardan shaft short
6 Kardanwelle lang 87172 4
Cardan shaft long
7 Platine komplett 131886 21
Printed circuit assembly
8 Isolator 88058 3
Insulator
9 Uberspannungsableiter 88059 3
Overvoltage protector
10 Lichtplatine 105187 13
Bulb board
" Lichtleitstab Lok 105200 4
Light transmission bar locomotive
12 Seitenfenster Lok 105201 4
Side window locomotive
13 Stirnfenster 105202 4
Front window
14 Lichtabdeckung 105203 4
Light protection cover
15 Faltenbalg 105214 5
Gangway bellow
16 Isolator Grundrahmen 105503 4
Insulator support
17 Distanzplattchen 105764 3
Spacer
18 Kontaktfeder 116876 3
Contact spring
19 Drahtlampe weiB 16 V 109321 8
White bulb white 16 V
20 Drahtlampe rot 16 V 109918 8
Light bulb red 16 V
21 Grundrahmen Motorwagen 111204 16
Frame locomotive
22 Bugklappe 112257 6
Front cover
23 Mittelwanne Motorwagen 112258 12
Middle-Tray locomotive
24 Frontwanne 112259 4
Front tray
25 Teilesatz Gehause 112263 9
Parts set Body
26 Gehause Motorwagen Betr. Nr. 402 014-5 134873 30
Body assembly loco Betr. Nr. 402 014-5
27 GF - Schraube M2x4 114877 3
GF - Screw M2x4
28 GF - Schraube M2x5 114966 3
GF - Schraube M2x5
29 Decoder 8 - pol. 10884 -
Decoder 8 - pol.
30 Modulisolierung 108546 3
Modul insulating

Anderungen in Konstruktion und Ausfiihrung vorbehalten

We reserve the right to change the construction and specification




